H3K27ac

Va2

= blueprint_BL2 H3K27ac

== Blueprint_S00320H1_H3K27ac

== Blueprint_S00BHQH1_H3K27ac
= Blueprint_ S00W1BH1_H3K27ac
— encode_GM12878_H3K27ac_repi
— encode_GM12878_H3K27ac_rep2
~ HO18H3K27acX1

position from TSS
H3K4me1

0.5-

0.4-

average

0.2-

0.1-

position from TSS

V2

= blueprint_BL2_ H3K4me1

— Blueprint_500390H1_H3K4me1

— Blueprint_S00BHQH1_H3K4me1

= Blueprint_S00W1BH1_H3K4me1

= encode GM12878 H3K4mel_repiV1
— encode_GM12878 H3K4mel_replVa
— encode_GM12878 H3K4mel rep2

= HO12H3K4me1 X1

0.12-

0.09-

0.03-

H3K27me3

position from TSS
H3K4me2

1.2-

average

0.4-

position from TSS

V2

— blueprint_BL2_H3K27me3

— Blueprint_S00390H1_H3K27me3

== Blueprint_S00390H2_H3K27me3

== Blueprint_S00BHQH1_H3K27me3
= Blueprint_S00W1BH1_H3K27me3
— encode GM12878 H3K27me3_rep1
= encode GM12878 H3K27me3 rep2
— encode_GM12878_H3K27me3_rep3
— HOOOH3K27me3X1

= HO03H3K27me3X1

= HOOBH3K27me3X1

== HOD9H3K27me3X1

- HO12H3K27me3X1

= HO18H3K27me3X1

~ HO24H3K27me3X1

- HO36H3K27me3X1

— HO48H3K27me3X1

— HO72H3K27me3X1

- H120H3K27me3X1

- H168H3K27me3X1

V2

~ encode_ GM12878 H3K4me2_rep1
— encode GM12878 H3K4me2_rep2
= HOO0OH3K4me2X1
= HO03H3K4me2X1
= HO0BH3K4me2X1
= HO09H3K4me2X1
== H012H3K4me2X1
= H018H3K4me2X1
= H024H3K4me2X1
= H036H3K4me2X1
~ H048H3K4me2X1
~ HO072H3K4me2X1
= H120H3K4me2X1
= H1868H3K4me2X1

0.25-

0.20-

0.05-

H3K36me3

position from TSS

H3K4me3

0.0-

position from TSS

V2

== blueprint_BL2_H3K36me3

== Blueprint_S00390H1_H3K36me3

== Blueprint_S00390H2_H3K36me3

= Blueprint_S00BHQH1_H3K36me3
— Blueprint_S00W1BH1_H3K36me3
— encode_GM12878_H3K36me3_rep1
— encode_GM12878 H3K36me3_rep2

V2

= blueprint BL2 H3K4me3

= Blueprint_S00390H1_H3K4me3

— Blueprint_S00BHQH1_H3K4me3

= Blueprint_S00W1BH1_H3K4me3

~— encode_GM12878_H3K4me3_rep1

— encode_GM12878 H3K4me3_rep2V1
= encode GM12878 H3K4me3_rep2V2
== HOOOH3K4me3X1

== HOO3H3K4me3X1

= HOOEH3K4me3X1

= HOD9H3K4me3X1

= HO012H3K4me3X1

= H018H3K4me3X1

-~ H024H3K4me3X1

~ HO36H3K4me3X1

~ HO48H3K4me3X1

— HO72H3K4me3X1

— H120H3K4me3X1

~ H168H3K4me3X1



0.06-

average

0.02-

H3K9me3

position from TSS

V2

— blueprint_BL2_ H3K9me3

= Blueprint_S00390H1_H3K9me3

== Blueprint_S00390H2_H3K9me3

== Blueprint_SO00BHQH1_H3K9me3
== Blueprint_ S00W1BH1_H3K9me3
— encode_GM12878_H3K9me3_rep1
— encode_GM12878_H3K9me3_rep2
— encode_GM12878_H3K9me3_rep3
— HO18H3K9me3X1

0.09-

0.08-

0.05-

0.04 -

H3

position from TSS

V2
— H024H3X1



